Roll No. - 1220 M Y oUY,
Bharati Vidyapeeth's
Institute of Computer Applications and Management (BVICAM),
A4, Paschim Vihar, New Delhi-63
FIRST SEMESTER [MCA] Internal Examination, December 2022

Paper Code: MCA-103 Subject: Computer Networks
Time: 2 Hours Maximum Marks: 45
Note: Attempt THREE questions in all. Question No. 1 is compulsory, and attempt any two
sections.

1. Answer all the following questions briefly: - 15x10=15
(a) Difference between Bandwidth and Throughput CO1

®)
(©)

(@
(e)

0

(&
(h)
(@

-—

)

®)

©

Explain the difference between node-to-node delivery and source-to-destination ~ CO2
delivery?

A network uses Mesh topology to connect n computers. Estimate the total no of  CO2
connections in the network.

Explain Unicasting, Multicasting and Broadcasting? CO1
Consider following network. Calculate the throughput of the network. CO1
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Explain Noise, Attenuation and Distortion. o1
Discuss the point to point and multipoint iine configuration. CO1
Differentiate between LAN and WAN. o2
Compare and contrast between Hub and Switches. CO2
Compare and contrast between Star topology and Bus topology. CO2

Section - 1
Compare the layers of OSI Model and TCP/IP Model. Exphin the 5 CO2
responsibility of each layer.
Explain the architecture of Optical Fib:r? What are the different types of 5 COl
propagation modes in optical fiber?
What are the different types of Satellites available in the orbit? Compare them. 5 COl
Section - I1

The initial SNR measured at the transmitter was 20 dB. In order to combatthe 5 COI1

channel conditions, the signal power was doubled prior to transmission. What
is the new SNR at the transmitter?

Suppose an unfortunate situation. A city has hitby an earthquake. Wehaveto 5 CO2
establish a network immediately. What type of communication media would

you suggest? Justify your answer.

Construct the NRZ-I, NRZ-L, encoding of the digital data: 00110101000111. 5 GOl

Page 1 of 2




Scctxon,- it ‘**"":_ R

(c) Suppme you have to desrgn a netwe k for a com:gany 'I'he companylias- 5
gy in a city. Design a topoIogy@iko e




